Impulse function ORIGIN.:= 1 L sanAndres (c) 2019

Physical parameters and natural frequency

N = |bf stiffness and mass

K = 150-10°-— = 8.565 x 10°- — o

m In ¢:=0.05 damping ratio

M := 300-kg = 661.387-Ib K)” _
. Wy = (—) — 707.107s 1
Whn natural frequency and M
2-TC natural period of motion Tn — — —-8886x10 °s

fn
C.= C-Z-(K-M)'5 = 121.131-Ibf-% Damping coefficient
_ il duration of impulse e
1L, = 1000 ~  (nominal) & amplitude Fy := 1000-N

T
Impulse := 2-—-F; = 0.637-N-S areaof Fvs t curve
T



Sampling rate = MIN = 2 x max frequency

Sampling rate Arate — 10000_1 samples/s
S

Number of samples Np := 210 _ 1,024 x 10°
1YES, 0: NO Yyindow := 0

Sampling must be at least twice larger than 1/T
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(b) Time response
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[¥]—window
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(b) Time response
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[¥]—window
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(b) Time response
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